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QUESTION 1

The requirements catalogue documents the business user or users who requested the requirement. Which heading in
the requirements catalogue template would this information be recorded?

A. Owner.
B. Justification.
C. Author.
D. Source.

Correct Answer: D

QUESTION 2

Which of the following statements is true?

A. Shadowing is an effective way of preparing test scripts for user acceptance.

B. Rich pictures and mind maps are used to document the requirements for the IT system.

C. Interviews are effective in building a consensus view and securing agreement from a diverse group.
D. Ethnographic Studies are concerned with the long term observation of the business environment.

Correct Answer: D

QUESTION 3

There is a requirement for an employee to enter time worked details into a computerised project reporting system. If this
requirement was drawn on a use case diagram, which of the following would be correct?

A. Employee would be the boundary, time details an actor.

B. Project reporting system would be an actor, employee a use case.

C. The computer system would be the boundary, the project reporting system a use case.
D. Enter time details would be a use case, employee an actor.

Correct Answer: D

QUESTION 4
Which of the following statement is TRUE about the process view of an organisation?

A. It focuses on the customer of the organisation.
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B. It focuses solely on the internal view of the organisation.
C. It focuses on the functions of an organisation.
D. It focuses on the organisational structure.

Correct Answer: A

QUESTION 5

The senior managers of an organisation recognise that they employ knowledgeable, committed staff. Under which
category of a SWOT will this be recorded?

A. Weaknesses,
B. Opportunities.
C. Threats.

D. Strengths.

Correct Answer: D
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